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LEARN CHINESE FROM MODERN WRITERS (WORKBOOK)
4
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1. CRL1UER L, 24D
Receiver of action 52 (%)) (doer of actionft]) + disyllabic transitive verb.

“Receiver of action” be “verbed” by ““doer of action™.

These verbs in Unit 1 of the Workbook can be used in this structure:

XA 38 T 1530 W /AL 14 R T A R A S LB SRR 7R )

i)
a. (e I, IARVE R IR 52 CRK) WAl
b. 767 1 KK EE R, IR 2 A2 2 T AT PR 6

HixX AN B85 4] (make a sentence)

2. (353005 204T)
S(VO)V #...... AP
Sadj. ... 0,

S VO so much -- to the extent that .......
S be so adj -- to the extent that .......

What immediately precedes “[1'] i 26 must be something unpleasant.

1)
a. P AL g8 K S RE R TR B2 N PR 2 T AT I — 5L E i HL
b. LG — A3k BRI, MR 2 T BK B R IHD

ik /NiEyEE 1) (make a sentence)
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3. (B 3 Ui 1817)
...... , S fhifi VP
i fi is used to express the speaker’s disapproval of the S for VP.

(IKETR

a. [ A BRI ER T N5 45, mle At imim =ik b T — N AN LT
b. A BEEAB RN IR GF RS 2%, AR AN X 2], B2t
JLo AACEEPER AT BLUEE 4L T o

HixANEEf] (make a sentence)

4. (25 4 55 1047)
...... , S X IE VP, anyway; no matter what

(IKETR
a. W RARAT AN S AT G #R AT, RIER— RESERX.
b. RATUEAR b [ 3 el L0, OEIRA

HixANiE5 4] (make a sentence)

—: M riAER). Make sentences with the given word(s). If there are
4 or 5 words, use a minimum of 3 words.

1. (B 1O 151T) ZRZR
Bla): ADSNUCAMITI A R 25 AR bl, HSEMITRISA AR 24
W2 B R
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2. (BB 20158 247) Ll
Bia): AR ELLE, FREPESEANNE T EREMNS, mATE
AL 2= 2B i

=l
=
[N
>
il
iy

3. (B 1) @or

4. (%2 W) AL Bexf B G Ll

5. (3% 3 1) o L/&5 e 55 20
6. (ZF 4 1) PRI ERN & Zn
7. (%5 0) k3 AL CdRiT KAk R
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= [l ) (e A S i DU AT)

L R IS 2 I A BR A o ARUC AT A KA, T
ASERN, BN TN, BB RIR, 552

2. BT SRR RS 1N A A2
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